Friday IXL Sections to help with times
Times tables tables are AA, BB and CC

Group A

Warm up




Brain boxes on!

HINTS:

Read the instructions carefully

Adjacent means next to each other and they could be side by side, o on top and. below.

Horizontally means going left and right, like the rows

Vertically means going up and down, like the columns

A product is the answer when you have multiplied numbers So the product of & and 5 is 20.

But in this grid | cant put b and 5 next to each other because 20 isn't one of the products I'm allowed.

Check which numbers CAN go next to each other with the answers you are allowed, e.g | can go next to
L, 8 or 9

-

E:éﬁ. The Puzzler

4 8 9 12 16 18 21 24 35 40 45

Write the digits 1 to 9 on the 3 = 3 grid so that
pairs of adjacent digits, both horizontally and
vertically, make only the products above.

For example: 6

3 813
Product of 18  Product of 24




